NYEEZXHIS

Hn
g

H4, H1
o
p,
H |H3 |
H2

RN
. { =
LI

*)e
B1

1]
Jo
0]
12

K
02
i
Hu
7
[l
N
olr

© HEINRICH KIPP WERK GmbH & Co. KG

=M 0j12a;

B A: Hx{al & ofed £,

EFQl B: Wx{al & ofd £,

DIN787 T-2%& A3 5, DIN 6340 2A, DIN 6330B L{E Z &,
B} C: W2l & ofed =2

DIN 6379 AE{E, DIN 6340 2tA4, DIN 6330B L{E Z &,

HH.
_IE'E’S EZ= 2D X|EMo 2 FME Ao ZH™5t0
LICt 18 29| Z2F0= Ctdet Y X7 e

B|IMAIZ = U&LICH ek A EE= KA 7+3 #0t
AME HE BoME CHEFSHA 17

i
fu
1]
Paal
0o
net
>
30
>
C
ul

HMIA{E]:
K1204 X|X|CH Q4% & x|

I\IM

H4 H1

9
%:
i b
H2
Ha, H1
C

Y
H H3|
H2

www.kipp.com - info@kipp.com 1/2



°
[ ==
AP ERZXTHIIS
EZS 29
FEHS Bt B 2 BBl DE H H1H2H3 H4 L L1L2 &XUH  2E LA ST
22T e kN
K1165.113115 A - 44 30 13 11 0-55 18 27 17 12 115 2530  10-12-14 - 30
K1165.117150 A - 55 41 17 12 0-70 20 36 21 17 150 35 36 12-14-16-18 - 40
K1165.121187 A - 62 30 21 14 0-80 30 42 27 20 187 44 44 16-18-20-22 - 60
K1165.125235 A - 70 30 25 17 0-100 31 51 34 24 235 60 47 20-22-24-28 - 75
K1165.125285 A - 73302517  0-100 35 56 35 24 285 62 51 20-22-24-28 - 75
K1165.210115100 B t&X S 44 30 13 11 0-40 18 27 17 12 115 25 30 10 M10X100 25
K1165.212115125 B t&R S 44 30 13 11 0-55 18 27 17 12 115 25 30 12 M12X125 30
K1165.214115125 B t&R US 44 30 13 11 0-55 18 27 17 12 115 25 30 14 M12X125 30
K1165.212150160 B t&X US55 41 17 12 0-70 20 36 21 17 150 35 36 12 M12X160 35
K1165.214150160 B t&=R US 55 41 17 12 0-70 20 36 21 17 150 35 36 14 M12X160 35
K1165.216150160 B  t&R US55 41 17 12 0-70 20 36 21 17 150 35 36 16 M16X160 40
K1165.218150160 B  t&X US55 41 17 12 0-70 20 36 21 17 150 35 36 18 M16X160 40
K1165.216187200 B t&=X S 62 30 21 14 0-80 30 42 27 20 187 44 44 16 M16X200 55
K1165.218187200 B t&X US 62 30 21 14 0-80 30 42 27 20 187 44 44 18 M16X200 55
K1165.220187200 B t&X US 62 30 21 14 0-80 30 42 27 20 187 44 44 20 M20X200 60
K1165.222187200 B t&R US 62 30 21 14 0-80 30 42 27 20 187 44 44 22 M20X200 60
K1165.220235250 B t&X Q& 70302517  0-100 31 51 34 24 235 60 47 20 M20X250 70
K1165.222235250 B t&X & 70302517  0-100 31 51 34 24 235 60 47 22 M20X250 70
K1165.224235250 B t&X & 70302517  0-100 31 51 34 24 235 60 47 24 M24X250 75
K1165.228235250 B t&X Q& 70302517  0-100 31 51 34 24 235 60 47 28 M24X250 75
K1165.312115100 C  AEES ZE 44 30 13 11 0-30 18 27 17 12 115 25 30 - M12X100 30
K1165.312115125 C  AEES Z# 44 30 13 11 0-55 18 27 17 12 115 25 30 - M12X125 30
K1165.312150125 C  AEC Z3# 55 41 17 12 0-50 20 36 21 17 150 35 36 - M12X125 40
K1165.312150160 C  AE= ZF 55 41 17 12 0-70 20 36 21 17 150 35 36 - M12X160 40
K1165.316150125 C  AES Z# 55 41 17 12 0-40 20 36 21 17 150 35 36 - M16X125 40
K1165.316150160 C  AE{C Z3 55 41 17 12 0-70 20 36 21 17 150 35 36 - M16X160 40
K1165.320187160 C AE= X3 62 30 21 14 0-40 30 42 27 20 187 44 44 - M20X160 60
K1165.320187200 C AE{E X3 62 30 21 14 0-80 30 42 27 20 187 44 44 - M20X200 60
K1165.320235200 C  AE{S Z# 70 30 25 17 0-70 31 51 34 24 235 60 47 - M20X200 75
K1165.320235250 C AEE Z¥ 7030 2517  0-100 31 51 34 24 235 60 47 - M20X250 75
K1165.324235200 C  AE{E X3 70 30 25 17 0-50 31 51 34 24 235 60 47 - M24X200 75
K1165.324235250 C AE{=E Z# 7030 2517  0-100 31 51 34 24 235 60 47 - M24X250 75

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



